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[1] ��� �1� 	 � ��# ��$ ���

[2] ��� 2 �� �� # ��$ � �

[3] ��� ��� # �� $� � �

[4] � �3��� � ��� #��$ � �

  

�� A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

"�� � 	 � ��� ��$ �45 �6� �' � 70 8 -� �� �� � &
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' 8 -% � �	 
# � �� 3�0 � 	 #� 5 ��# � 
 '>� 	 �� �
� � -� � � � �� �� � 	 � � �� �� � �� � �9� � �� 	 � �� 	 #�

# �� �� � 	 #� ��� �� �6�0 �� � �	 � �� �0�� �� 	 � �� � -. �� � �

[1]� � - 4
� � � � #� 5 �6� �' �

[2]� � �� ��� ��$ � �

[3]� 
 -	 � � #� 5 �6��' �

[4]� 5 � �� * �' �� 5 �6��'�

  
"�� A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

��� 
�� . � �� � 	 � � 70 �2 �? �� � �# �	 � $ �%� 70� 2� ?� �
5 �	 ���	 � � �	 
� ����'� 
� � 
� � � �6�� � -. � @ �
�

[1] ��# �� $ �� ��� �'�

[2] �� 	 �� � ����'�

[3] ' 8 �� �� � A �� � �� �� �'�

[4] ' �� � �� �� � 3�$ � �� �� �'�

  
��� Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach�

[2] Type Approach�

[3] Instinct Approach�

[4] Psychoanalytic Approach�
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[1] 	 � � �� �	 � �  �� 0� �' � � �� -���

[2] &# �� � '� � � 
� �  ���

[3] 5 ��# ��� '� �5 � �� � � �� � 
# '� 5 ��� � 	 �� C� ��
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  #�� Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

$�� D&� � � 	 � �	 �� �� � � 5 ��� � '� �� 4� �� � � �� � * �� 6��
�� � ��� � � ' � � � 5 
' / �� � -�� � �� -. %� �� � � �-� 5 ��� �
* � � 6�� 5 �� � � < �� = � � � ��) � � �� � ��	 =� 	 � � �� � �� -. !E�
0 -� �	 
 � �� 	 �� � 	 #� � �� �?' 	 � 0  �2 � � 	 � � � 	�
� �� -� $ �� -. �@ �

[1] � '� � � �

[2] �� �� �' � �

[3] �� ��� �$ �� �

[4] � �
/ � ����

  
$�� 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression  

[2] Regression  

[3] Projection  

[4] Displacement 

��� ��0 �&� � 	 � � 
� C ��� ?'	 � ��	 �
 � � 
" �� � � 	� �
5 � 
 �� %� D
� C �� �?' 	� 
�� �� �� 	 #� �-�
' 8� � �8 � � ) 	 � )�% � &� � � �	 
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� C �� �?' 	 � 70� -�� �
	 � � �* 0 �9� 0� � '�� � '� � � 	 ��# � -. E%� 	 -�� �#�
-. �� �

[1] 
 -&� �� �A � � �0 �F � �

[2] ' 8 �� �� � A �� � 0�F�

[3] 
	 # '�� �

[4] 
 �� �� $� ����

  
��� According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes  

[2] Basic Instincts 

[3] Schema  

[4] Conservation 
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  %�� "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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  &�� Which one of the following is not a 

direct method for measurement of 

attitude ? 

[1] Interview  

[2]  Projection 

[3] Questionnaire  

[4]  Observation 
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  ��� 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 
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'�� Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 
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�� Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 
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"�� Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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��� Which way is the most appropriate 

for social development of 

adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 


#�� ' .
� �� � 	 � � 5 � ��0 	 � �� ��� � * ' � �
 " �� � � 	� �
5 � 
 �� %� D
�' ��� 	 #� 5�� �0	 � �E � �	 
�
�� 	 �� � 	 #� 5 �� �0	 ��� -. �@ �

[1] 70 �2 � �� � �

[2] 
 �'� �&	 �

[3] � �. �" 	 � �

[4] 
 �� � ��?' 	 �

  
#�� According to Maslow's Need 

Hierarchical theory, 'Esteem Needs' 

are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 
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$�� Which of the following task is not 

related to Baqer Mehdi's test of 

Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 

related task 

[3] Product improvement related 

task 

[4] Ask and guess related task 
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��� Which of the following statement is 

not correct with reference to 

individual   differences ? 

[1] No two persons can be exactly 

alike. 

[2] Individual differences may 

belong to different areas. 

[3] Individual differences affects 

different dimensions of 

development. 

[4] Individual differences arises 

only due to heredity. 
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%�� Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport  

[2] Woodworth 

[3] McDougall  

[4] Eysenck 
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&�� Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading�

[4] Speaking and Writing�
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��� According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical  

[2] Creative 

[3] Theoretical  

[4] Practical 
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  "'�� According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 
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  "
�� Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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  ""�� Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 
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  "��� What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 
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  "#�� According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 
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  "$�� Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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  "��� Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 
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  "%�� What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 
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  "&�� As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 
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"��� Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral�

[4] Circular�
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  �'�� Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic [2]  Acquired 

[3] Intrinsic [4]  Social 
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��'%;�� 8*������:� ��?
� ��.�+!�� !�G�� ���
�
�� ,��������4�

[1] !2%
�'
�#��!�G��

[2] ����
�#��!�G��

[3] ���

�#��!�G��

[4] H'�;�
�#��!�G��

���� 9�2���!����.�+!��
�;'����%I���%I���%I���%I��.�4�

[1] �%��� ��H'
�� �!
�>��J��.&�

[2] �2�!����2���2�%�'��
%"�����6��.�&�

[3] 
����6
�!���C������ � ����.&�

[4] ���������������'��3'���� ��
���.&�

�#�� ��!� ��?
� 2��� ��� !�� ��*��� ��!���K� ���
��'�����%����.�4�

[1] �*'���� [2] �	
���,��

[3] ��%�J��� [4] H'��*��



����� ��� ���

����	
��
��� � �

�$�� !2�!����
(��)�!���!����!����!����!�����
�$��#%������

[1] ������� +� �2�*�� '�

[2] !�#
��'� +� �D�%/���

[3] #�. ���� +� �L�%�

[4] ����J� +� "�%
�����

�
�� ��!��
�$��2����
!���!�	*�������'�����%���
�.�4�

[1] '%�*���J �

[2] 
'��
(I�

[3] � ���
����

[4] ���J% �

!%�� ��?
������ 2��� 
,����%<2� ��� 
(��)� !�� 8>I�:�
��?
�9�2���!����!���?
���������������4�

[1] ���.'��

[2] �'�2�

[3] M��(�� �

[4] >�2��

!��� �
���2����
(��)�!���!����!����!����!�����
�$��#%������

[1] ��D'��� +� ��*�D'���

[2] �	2%��� +� ����2%���

[3] �$���� +� '=��=���

[4] �%D!�� +� �����!��

! �� 9�2��� !�� ��!� ��?
� 2��� 8��
):� ��D''� ���
��'����������������������%����.�4�

[1] �% ���)� [2] !��
)�

[3] "%��
)� [4] � �
)�

!��� �N#� ,�����
(��)�!��8�:�
,�������N#� ,��
5=������������

[1] ����J�

[2] 2C*����

[3] ���%�

[4] 
	��

!!�� 8���%:���?
�!�����2����
�����,���.���

[1] �����
��

[2] ���%����

[3] ���%���

[4] ���%D
�

!"�� 8�D!2+�
E��
:����
(��)�!���!����!����!����!���� �
�$��
#%������

[1] ���2���� +� ���201��

[2]  O�%� +�  5!��

[3] �����,�� +� �D=� �

[4] 25��� +� 2�=���
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���� Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked. �

���� Change the narration : 

Kavin said to Mr. Cowper, "Please, 

be kind to me." 

[1] Kavin requested Mr. Cowper to 

be kind to him. 

[2] Kavin requested Mr. Cowper to 

be kind to me. 

[3] Kavin asked Mr. Cowper to be 

please kind to me. 

[4] Kavin asked Mr. Cowper that he 

must be kind to him.�

���� Fill in the blank with the correct 

form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash�

�
�� The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant�

���� Arrange the following jumbled 

options in the correct order and then 

choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii) �

���� Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining�

� �� Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive.�
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���� Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning.�

���� Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did�

���� Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must�

���� Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ?�

���� Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] ×�

���� Fill in the blank with the correct 

option that completes the idiom : 

A rolling stone ………. . 

[1] carries rough winds 

[2] kills no one 

[3] gathers no sauce 

[4] gathers no moss�

�
�� Fill in the blank with the correct 

option : 

When Monisha reached the bus 

stand, the bus ……….. . 

[1] was already left 

[2] had already left 

[3] already left 

[4] has been already left�

���� Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning.�
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�������������������	�������������������
�������������������	�������������������
�������������������	��������������������������������	�������������������	�������������������	�������������������	������������������ ����������!�
�����������"����#�������$��%��&�������� 

����������������������������������������������� ���!"���������#$�%�����������������&���#�'���&���#�'���&���#�'���&���#�'�����(!�')���*�
���������	
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����	������	
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����

���� �+��������������X������Y ��������������,�
�+�%���-��%.��)/0�01*�����Y��-�!%2�3��
X�������-��	��%�!45�%0-�0��������Y�����)/0�
��������������01�6�

[1] #$�%  

[2] ����7� 

[3] !+��  

[4] !��'��

  
���� X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

�'�� �������� ���-� ����'�� �+%-����� 
��%���-�
����������3�8��9�������:&�����!�-�4.5 8��9������
����%�-�01*����� 
��%���-�'���3� ���-�
!"��� 8��9�� 01�� ���� ������ :�� ���� ���� �-�
'���01���

[1] 10 ���- !"�� 8��9���

[2] 12 ���- !"�� 8��9��

[3] 13 ���- !"�� 8��9���

[4] 15 ���- !"�� 8��9��

  
�'�� A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is :�

[1] 10 kmph  

[2] 12 kmph�

[3] 13 kmph  

[4] 15 kmph 

���� 10.5 ���-� ��;��� ��� ��� 
���)� ��� ������
�!8����%�� 3.5� ���-� ��;��� ����� 3� ���-�
</'�3�� ������3��2��9�� ����)	���� ����=��� �����
:����01*����)��%��3��!"��%�&�������)��-�
�� �������-�0���-�6�

[1] 112 [2] 126 

[3] 132 [4] 138�

  
���� A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 
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��	�
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���� � �

�(�� �������3��
��%��������>����'?�@�A�B��:����
	�
��%� !%� 3� �>������ ��� '?�@�A� B��:�

:��45�%�
8

3
3 ��)��� 0��� :���� ���� B��:� �-�

���>�����%�01���

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50 �

  
�(�� If the amount is 

8

3
3 times the sum 

after 3 years at compound interest 

compounded annually, then the rate 

of interest per annum is : 

[1] %
3

2
16 � �

[2] %
3

1
33 �

[3] %33 � �

[4] %50  

���� 1865 ����������������660�	���":-�&���������

0�1�	�1%�1305 ��0��-�&���������01���!%��)�

120 C��D�������������������3�� ��-����>����0-��

&���������01������� ������������������� ���>���/�

&���������0�1�6 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085�

  
���� Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220� �

[2] 440�

[3] 120� �

[4] 1085 

���� '�����-��-�������20%��-���-�0���:����

!%� ��� �"�0�� 800� E!��� ���� 12.5� ���"��

'���� ;�����  �%-������� 01�� ���� '�����-�

�+���-���!"������"������-�01�6 

[1] 12 E!��  

[2] 14 E!���

[3] 15 E!��  

[4] 16 E!���

  
���� A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12  

[2] Rs. 14�

[3] Rs. 15  

[4] Rs. 16 



� ���)��� ������
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�)�� �����:�� ��� ��� ����.�� ���� �����:���
����.�� ��� 12� �)��� ����� ���>�.�� ��� 5�
�)���01*�����#��������>�.��36 0�����������;��
01����

[1] 2726 [2] 2736�

[3] 2796 [4] 2826�

  
�)�� In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is :�

[1] 2726 [2] 2736�

[3] 2796 [4] 2826 

�*�� �����F�7�-����	����!�������-�:����
�

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S�

  
�*�� Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T� �

[2] T2670N�

[3] N2676S� �

[4] M2670S 

���� ���-� �� ��� ���� 5, 9, 13� ��� ������:��
�%���!%�?�����2, 6������10����>��&'���
01*����-��&���2��9-��� ���01���

[1] 602 [2] 592�

[3] 572 [4] 582�

  
���� A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592�

[3] 572 [4] 582 

)+�� ��� ����'�� �+9� ���>��� ���� "PARTICLE"�
����"USBQFMDJ"������"GENERATE"�
����"FOFHFUBS"��� ���:����01������3�-�
������+9� ���>��� ����� "DOCUMENT"�����
�� ���:��������
�

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF�

  )+�� In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ� 

[3] VDPEUOFN  

[4] VDPEUOSF 



������ ���*���

��	�
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���� � �

)��� �-��������P, Q ���� R G�%�����9�1��5�8��9��

���� ��%���01*����R, Q�����)�)�-��������

�����Q, P�����)�)�-��������'����01�������

	��������P�G�%��91���������%�������������

����������6�

[1] 22 8��9�� [2] 25 8��9� 

[3] 30 8��9�� [4] 35 8��9� 

  
)��� A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs [2] 25 hrs 

[3] 30 hrs� [4] 35 hrs 

)'�� ����
13

13

−

+
=x ����� ,

13

13

+

−
=y ����

( )22
yx + ��������01���

[1] 14  [2]  12    

[3]  13 [4]  16�

  
)'�� If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22
yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

)��� �45��������-����!��D������A�&��-��	��%����

10����H�����!%������B����-��	��%����14����

H�����!%�01���������	!�-��H������/�!%H!%�

&��� ���-� 01��� ��� A &��-�� 	��%� ��� 24����

H�����!%�0���:��-�01��!��D������45��������-�

�� �������-�01�6�

[1] 31 [2] 33 

[3] 37 [4] 39 

  
)��� In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31 [2] 33 

[3] 37 [4] 39 

)(�� ����)�����%�����H�)�����15%������!%�
&�'���01��	�%�#����#���18 E!�� 	�
���
���� &�'�� 0������ ���� #���� ����� 18%� 0���
:���*�#���H�)����?���+(��IEJ����K�01���

[1] 360  

[2] 540 

[3] 600  

[4] 640�

  
)(�� A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 
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)��� ����H&���-�:��� ���9000�01������!)E>�����

�-�:��� ����@�A��%�5%�	�1%���0��	����

�-� �@�A� �%� 8%� 0��� ���� ��� �>��� ����

:��� ��� 9600� 0���� ���� !)E>����� �-� �� ����

01���

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600�

  
)��� The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

)��� D, C �����E������&��01��A, E����	�
���

��&���0-��01��C, A������&��01��D, B����

	�
��� ��&�� �0-�� 01�� ���� 3����� ��� ��1��

�&�����&��01�6�

[1]� A�� �

[2]� B�

[3]� C� �

[4]� D�

  
)��� D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A  

[2] B 

[3] C  

[4] D 

))�� ��� �45�-� ��� .��9���"�.� �-� 	��%� 3�����

�%���0)��X�����0�����LL�0���%�������:-�

��� 3���1��� !)�� �-� �45�-� 01MM�� ���� �45�-�

���X��������!"��%���&�
��01�6�

[1]� �!��� �

[2]� ���3��

[3]� &0�� �

[4]� �����

  
))�� Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father  

[2] Brother 

[3] Sister  

[4] Mother 
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)*�� �����>!�3�:�����-�%����45-�!+������!��'��

�-�	��%�:��%0-�01������#$�%��������7���-�

	��%�0���'��%0-�01������#����
�)	�/�����

����������:�����6�

[1]� #J - !J  

[2]� #J - !+J 

[3]� �J - !+J  

[4]� �J - !J�

  )*�� A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ? �

[1]� N - W  

[2]� N - E 

[3]� S - E  

[4]� S - W 

)��� ������� ���F�7�-����	����!��01���

�

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232�

  
)��� The next term of the following 

number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201�� �

[2] 211�

[3] 227�� �

[4] 232 

*+�� 9 ?������ ��	�������	�1���n 01������#�����

���� 	��-� �� ��	���� ���� ������� �%� �����

:������������	�1���������0���:������6�

�

[1] �0-������%0�����

[2] 1 �-��@�A�0���-�

[3] 1.5 ��-��@�A�0���-� �

[4] 2��-��@�A�0���-�

  
*+�� The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1�

[3] increase by 1.5 

[4] increase by 2 
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*��� 0�%��7��� ��� ���� H�������� ���� �+��H���� �-�

%���%����
������0��%���%�H�������N!�

����	�
��+�'�����������01�6�

[1] �)(���!)%�%�>9O-��#P���	�1%�����4�����

���:-��	����%7��

[2] ����%� %�>9O-�� #P��� 	�1%�  �!%����

���:-��	����%7� 

[3] ��0%� ���:-�� 	����%7�� 	�1%� &-%�

�����%�=5����:-��	����%7��

[4] 	&+��0%� ���:-�� 	����%7�� 	�1%�

 ����,0-,%1�������:-��	����%7��

  
*��� Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ?�

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary�

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary�

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary�

*'�� ������������������!%���'�%��-�:����

(i) 0�%��7��� ���� ������)Q�� ��H���� �-�
H���!����>���2002 �����-��3����-*�
�

(ii) �����+����R-���!���0�%��7���%�;�����
!0���������)Q�����*�
 

[1] �����(i) �0-�01*�

[2] �����(ii) �0-�01* 

[3] (i) ����(ii) ������� �0-�01�*�

[4] (i) ����(ii) ������� ����01�* 

  *'�� Consider the following statements :�

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002.�

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct.�

[2] Only�(ii) is correct. 

[3] Both (i) and�(ii) are correct.�

[4] Both  (i) and�(ii) are incorrect.�

*��� 0�%��7������������0%�����L��9-�	�S.���%�
0-%��:M����N!�����:����:����01�6�

[1] �)E�"��� [2] ����-!��

[3] !��-!�� [4] ������-�

  
*��� Which of the city of Haryana is 

known as the 'City of War Heroes' ?�

[1] Gurugram� [2] Sonipat�

[3] Panipat� [4] Bhiwani�



������ ��''���

��	�
��
���� � �

*(�� 0�%��7��� ��� ������� ��� H��%����� ���� ����
���0��� %�;�� ��%����� H��%�� ��� �:��� !"�T����
01�6�

(i) ��� ���1�&������&%��

(ii) �����������%�����&�

(iii) ��-�����-�����%���S�T��Q� 

�0-�0-�0-�0-������+9����'����-�:����

[1] (i) 	�1%�(ii)  

[2] (ii) 	�1%�(iii) 

[3] (i) 	�1%�(iii)  

[4] (i), (ii) 	�1%�(iii)�

  *(�� Which of the following monuments 

of Haryana have the status of State 

protected monuments ?�

(i) Sheikh Tayyab's Tomb�

(ii) Shobha Sagar Pond�

(iii) Bhimadevi Temple Complex 

Choose the correct code :�

[1] (i) and�(ii)  

[2] (ii) and�(iii) 

[3] (i) and�(iii)  

[4] (i), (ii) and (iii)�

*��� 0�%��7��� ��� 	�1P������ �������� ���� 	�
��%��+��
�)��
��	��������������%�������������������
�����1�-�-���H�����:�����%�01�6�
�

[1] 0�%9O���� �

[2] 0)4��

[3] �'��	�3�	�3�4-�-�

[4] �:���#P�������U�

  
*��� Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ?�

[1] HARTRON� �

[2] HUDA�

[3] HSIIDC�

[4] District Industries Centre�

*��� ������� ��� ���� ��� ��1�� 0�%��7��� ���
%�;�!������G�%�����)Q���0-��0-��0-��0-���0�����01�6�
�

[1] 0�%��7�������) �����-�

[2] !�:�&�����0�%��7���#V'������������
�����
�-���

[3] 0�%��7��� ����� ����� 	������ �����
��H��

[4] 0�%��7���������
���%�	�����������H��

  
*��� Who among the following is not 

appointed by the Governor of 

Haryana ?�

[1] Chief Minister of Haryana�

[2] A Judge of Punjab and Haryana 

High Court�

[3] A member of Haryana Public 

Service Commission�
[4] A member of Haryana Human 

Rights Commission�



� ��'���� ������

��	�
��
���� � ���������

*)�� 0�%��7��� ��� ������� ��� %�;�!������ ���� ���

��1�������1�%���0�����6�

[1] �):5W.%�0)�1��&�-��

[2] :��) ������0���- 

[3] 
�����������4��

[4] &�&+�!%������

  *)�� Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney�

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal�

[4] Babu Parmanand�

**�� L!�%��%� !0'��� !�� ���:��M� ��� &�%�� ����
������� ���������������!�=5����

(i) �0� ���:��� !�%��%� ���� ��� 3��3�� ���
N!� ���� �'�0X��� �%�-� 01� 	�1%� �0�
0�%��7��� ��� ��H�� !�%��%���� ��� ���
������-�� �����:�,	������� 4�9�&���
�1��%��%�%0-�01*�

(ii) !"
����!�%��%��������	�Y�	�������-�
�����7�� !�%��%� !0'��� 	���79�� �-�
:�� %0-� 01� 	�1%� !0'��� (ID)� ����
:���� �@
�)� ���� �1���0�� �%��S4�X�� ���
:��45��:����*�

(iii) !�%��%� !0'��� 4�9�&��� ���� #!�B
�� 4�9��
���#!��������������(��7���%-����:��	����
���� H���� '��� 0��)� ����� :����� 	�1%�
!�%��%���� ���� H���� ���:��	���� ��� ����
	�������%����-�	���������0-��0���-*�

�0-�0-�0-�0-���+9����'����-�:����

[1] �����(ii)��0-�01*�

[2] (i)�	�1%�(ii)��0-�01�* 

[3] (ii)�	�1%�(iii)��0-�01�*�

[4] (i), (ii)�	�1%�(iii)��0-�01�*�

  
**�� Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct.�

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct.�

[4] (i), (ii) and (iii) are correct.�



������ ��'(���

��	�
��
���� � �

*��� 0�%��7��� ��� %�;�!��� ��� ��&�
�� ����

������� �����������!%���'�%��-�:��� 

(i) �0� 0�%��7��� ���U-�� ������P���� ���

�)���
�!���01�*�

(ii) �0�%�;��������-���-���������!������


��%7���%������01�*�

(iii) �0� 3�74��� %�4� ?�S�� �����39-��

0�%��7���%�;����� ������	
����01�*�

�

(iv) #�0��� ����
���� ��� 	������ ���3��

H������-�����Q��R�T���0-��01*�

 

#!�)�Q�����������1�-��/���������0-�0-�0-�0-��01/01��6�
�

[1] (i), (ii), (iii) 	�1%�(iv) 

[2] (ii), (iii) 	�1%�(iv)�

[3] �����(iii)  

[4] (ii) 	�1% (iii) ��������

  
*��� Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana.�

(ii) He can hold any office of the 

profit in the State.�

(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch.�

(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and�(iv) 

[2] (ii), (iii) and�(iv)�

[3] Only (iii)  

[4] Both (ii) and (iii) �

�+�� 0�%��7�����������������	�1%�%�;��������-�

�-9���0�1���

[1] 7 	�1%�4  

[2] 10 	�1%�4 

[3] 10 	�1%�5  

[4] 12 	�1%�5�

  
�+�� The Lok Sabha and Rajya Sabha 

seats in Haryana are :�

[1] 7 and�4  

[2] 10 and�4 

[3] 10 and�5  

[4] 12 and�5�
ssssss  



 ������� ������

��	�
��
���� � ���������

� ���� ���� ���� ���������������������
� ��� �� 	 �� 
��� ��� �� 	 �� 
��� ��� �� 	 �� 
��� ��� �� 	 �� 
����������� � 

�� 
 � � 	� ���� 
 � � 	� ���� 
 � � 	� ���� 
 � � 	� �� ���� � ��� �� �� �� ��� 	�� � � �� � �� � �� � 
� �� �� � �� �� ���� � � ��� � ���� � ��� � ���� � ��� � ���� � ��� � ��� ����� �� � �� � � �� ! ����
���������	
		��������	��
�����
��������
�������������
����	������	
�������
��	���
����

���� �� � �� � � �� �� � � � � �� " �� ��� � #� �� � � �� �� ���

� $ �% �� 
 � �� & � '� �(� 
�) � �( � �� *� � �� �*' � +�

�

[1] Cu  

[2] Fe�

[3] Ca 

[4] Mg�

  ���� Wilson's disease causes accumulation 

of which metal in the liver, kidney 

and brain ?�

[1] Cu 

[2] Fe�

[3] Ca 

[4] Mg�

���� �� �� ��� �� �� � � �� & �� � � (�� � , �� �� - ��  .� ��

�� � � � /0' �� 1 *� . 1� 2� 3� �*�� � �� *' �+ �

�

[1] 22ClCrO �

[2] 722 OCrK �

[3] DIBAL – H 

[4] COClCH3 /  �� 0� �� 3AlCl �

  
���� Reaction with which of the following 

reagents give benzaldehyde from 

toluene ?�

[1] 22ClCrO �

[2] 722 OCrK �

[3] DIBAL – H 

[4] COClCH3 /anhydrous� 3AlCl �



����� �������

��	�
��
���� � �

���� �� �� ��� �� �� & #� � � �� �� & �� � �4 � �& �� � � �� �
°
cellE � 5� �� *�� ��� + �

)()( 23
aqFeeaqFe

+−+ →+  

E° = + 0.77 V 

)(2)(2
sZneaqZn →+ −+  

E° = − 0.76 V 

[1] 0.01 V  

[2] 1.53 V�

[3] −1.53 V 

[4] 2.30 V�

  ���� What will be the� °
cellE �from 

following half cell reactions ?�

)()( 23
aqFeeaqFe

+−+ →+  

E° = + 0.77 V 

)(2)(2
sZneaqZn →+ −+  

E° = − 0.76 V 

[1] 0.01 V  

[2] 1.53 V�

[3] −1.53 V 

[4] 2.30 V�

�!�� �� �� ��� �� �� �� � � � �- �� (� � � 6 � � (6� �� � � 5��
� � � 7 �5� � �0 (�� ��� � �( �� ( � ��� 8 �9 � *�� �6 �*' � + �
�

[1] � �- �� (� �K 

[2] � �- �� (� �E�

[3] � �- �� (� �B12 

[4] � �- �� (� �B6�

  �!�� Deficiency of which of the following 

Vitamins causes increased blood 

clotting time ?�

[1] Vitamin�K 

[2] Vitamin�E�

[3] Vitamin�B12 

[4] Vitamin�B6�



 ���"��� ������

��	�
��
���� � ���������

���� AOHCHCCH
K

HHg

333

/2

23  →+≡−
++

�

� �� �� 5 � �& � � ��4 ��� ( � � �A *'���

[1] OHCHCHCH 223 −− �

[2] CHOCHCH −− 23 �

[3] 33
||

CH

O

CCH −− �

[4] 33
|

CH

OH

CHCH −− �

  ���� AOHCHCCH
K

HHg

333

/2

23  →+≡−
++

�

A in above reaction is :�

[1] OHCHCHCH 223 −− �

[2] CHOCHCH −− 23 �

[3] 33
||

CH

O

CCH −− �

[4] 33
|

CH

OH

CHCH −− �

���� ES
k

k
SE

a

a

'
+ �

PES
bk

→ �


7���6� &�
7��� ��/��-�������� ��� �/0�.(-

&�:�����  ���6���/;��� 5 ���*�� �6�+ �
�

[1] ]][[
'

SE
kk

k

aa

b
��
�

�
��
�

�

+
�

[2] ]][[
'

SE
kk

k

ba

a
��
�

�
��
�

�

+
�

[3] ]][[
'

SE
kk

k

ba

a
�
�

	


�

� �

[4] ]][[
'

SE
kk

k

ba

a
�
�

	


�

�

+
�

  

���� ES
k

k
SE

a

a

'
+ �

PES
bk

→ �

What is the concentration of enzyme- 

substrate complex by applying steady 

state approximation ?�

[1] ]][[
'

SE
kk

k

aa

b
��
�

�
��
�

�

+
�

[2] ]][[
'

SE
kk

k

ba

a
��
�

�
��
�

�

+
�

[3] ]][[
'

SE
kk

k

ba

a
�
�

	


�

� �

[4] ]][[
'

SE
kk

k

ba

a
�
�

	


�

�

+
�



����� ���#���

��	�
��
���� � �

�"�� CNCH

CH

CHCHCHCH −−−=− 2

3

|
3 �

OH

HDIBAL

2.2

.1
 →

− �

� �� �� 5 � �& � � ��4 ��� � � �� <��
 � *' � ��
[1] 

3

223
|
CH

CHCHCHCH −−−  

2CH− −����

[2] 

3

3
|
CH

CHCHCHCH −=− 2CH− �

− CHO 

[3] 

3

2223
|
CH

CHCHCHCHCH −−−−  

2CH− �−����

[4] 

3

23
|
CH

CHCHCHCHCH −−=−  

− COOH 

  �"�� CNCH

CH

CHCHCHCH −−−=− 2

3

|
3 �

OH

HDIBAL

2.2

.1
 →

− �

The product of the above reaction is :�
[1] 

3

223
|
CH

CHCHCHCH −−−  

2CH− −����

[2] 

3

3
|
CH

CHCHCHCH −=− 2CH− ���

− CHO 

[3] 

3

2223
|
CH

CHCHCHCHCH −−−−  

2CH− �−����

[4] 

3

23
|
CH

CHCHCHCHCH −−=−  

−�COOH�

�#�� �� �� ��� �� �� � �' � �� � � � � (��� �� � � � �� 6�

& �� � �4 � �	� 6�� �� � �� � �� 
� � *6 � � �� ��<( ��

& �� � �4 � ��� � � �� �� �= � �( �*' � +�

�

[1] � � /0' � �1 *�. 1� �

[2] p-- �> �? � � �� 1 *� .1�

[3] p-�� . -@ �� � � /0'� � 1*�. 1�

[4] � � �6 -� � A 6� ����

  �#�� Which among the following 

compounds has highest order of 

reactivity in nucleophilic addition 

reaction ? 

[1] Benzaldehyde�

[2] p-tolualdehyde�

[3] p-nitrobenzaldehyde�

[4] Acetophenone�



 ������� ������

��	�
��
���� � ���������

���� �� �� ��� �� �� ( � � � �� � � �' �-� �� & � 
	� � � �' � � � � �
�� �� �( 
� �6 � 24 (� (� � � �� - @ ��6� �� �� �� � � 
 � � � �
*' �+ �

[1] ��
�

�
��
�

�

2

1

P

P
lnR  

[2] ��
�

�
��
�

�

1

2
p

T

T
lnC �

[3] ��
�

�
��
�

�

1

2
v

T

T
lnC  

[4] ��
�

�
��
�

�

1

2

V

V
lnR �

  ���� Which of the following gives 

entropy change of an ideal gas for 

isobaric process ?�

[1] ��
�

�
��
�

�

2

1

P

P
lnR  

[2] ��
�

�
��
�

�

1

2
p

T

T
lnC �

[3] ��
�

�
��
�

�

1

2
v

T

T
lnC  

[4] ��
�

�
��
�

�

1

2

V

V
lnR �

�$$�� BAOHCHHC
KCNHBr

 → →256

�� ���

DC
NaOBrHOH

 → →
+

0� &�B�-���&���	
/2 �

� �� �� 5 � �& � � ��4 ��� 4 ( � (�� �'D ' *' � ��

[1] � � /0� � .� �& ���

[2] A � � �� �( � 7 �� � �( 6��

[3] A � � �� ��7 �� � �> . � � & ���

[4] A � � �� ��7 �� � �(6��

  

�$$�� BAOHCHHC
KCNHBr

 → →256 �

� ���

DC
NaOBrHOH

 → →
+

hydrolysisPartial

/2 �

'D ' in the above reaction is :�

[1] Benzoic acid�

[2] Phenyl methanamine �

[3] Phenyl ethanoic acid�

[4] Phenyl ethanamine�



����� ���$���

��	�
��
���� � �

�$��� α-*�. 1 @ �� 0� � � �*�� � � �� � (' � -� � �� � 1*�. 1 �� � � � ��

�� �� �. 1� � <2� �� � � � � 
� �� � � � B�� �� , � � �� ��

α-*�. 1 @ �> 5 �6� � 6 -� � �� �� �� �� � ��� *� � �*' � � �        

 

[1] 
- �> � � �& � � ��4 ��� � �

[2] ��� �� � �� B� ��  

[3] � � /0� � .� � �� B�� ��

[4] � ' � �0C �� �� � & �� �� 4 � ��

  �$��� The self condensation of aromatic 

aldehydes with no α-hydrogen in 

presence of cyanide ion as catalyst to 

α-hydroxy ketone is called :  

[1] Stobbe reaction�

[2] Perkin condensation  

[3] Benzoin condensation�

[4] Cannizaro's reaction 

�$��� �� �� ��� �� �� �� �� �� � � �� *� >�� � �� �� )�� � �� �

� 3� � �� �� 6� # ���  � �< 2� � � � Cu � � � D �� � �� �

2�� �*�� � � �� � ��� �� � � 1*�. 1 � � � � 6 -� ��� 2�3� �

� *6 �� *6 �� *6 �� *6 � �� *�� � � �*' � �+�

[1] OHCHCH 23 �

[2] ( ) OHCCH −
33 �

[3] ( ) CHOHCH
23 �

[4] OHCHCHCH 223 �

  �$��� Which of the following alcohol 

vapours passed over heated heavy 

metal catalyst Cu does not give 

aldehydes and ketones ?�

[1] OHCHCH 23 �

[2] ( ) OHCCH −
33 �

[3] ( ) CHOHCH
23 �

[4] OHCHCHCH 223 �



 ������� ������

��	�
��
���� � ���������

�$��� 50 ml 0.2 M HCl � 7 �� �50 ml 0.1 M 

NaOH � �� � �(� �� � � 2� 3� � *� �� � � �� �� � �� ����
� � �pH 5 �� �*' � + �

[1] 0 [2] 1�

[3] 1.3 [4] 12.7�

  �$��� What is the pH of a solution 

obtained by mixing 50 ml of 0.2 M 

HCl and 50 ml of 0.1 M NaOH ?�

[1] 0 [2] 1 

[3] 1.3 [4] 12.7�

�$!�� E� ? � �� �� � �� �� � �� � �( �� �� �HI � � �� �7 �� ��(�
� � � � ��� �2�3 �� *�� ��� � �

[1] *' 5 ��& � �1 �� � *' 5 �� � �

[2] E� ? � �� � �� � & ���

[3] n-*' 5� � ��

[4] �� /- �& �� 1� � �*' 5 �� ��

  �$!�� Glucose on prolonged heating with 

HI forms :�

[1] Hexaiodo hexane�

[2] Gluconic acid�

[3] n-hexane�

[4] Pentaiodo hexane�

�$��� 0�� 3-A����� 2���6� � ���� HBr � � � ��7� �

���>5 ��.1� �6� � ��
7���� (�� � &���$�� �����

0����*'%� ���� 2�3�� �<��
� *'�� 

[1] 1-�� � � (� �-3-A � ��� �2�� �� ��

[2] 2-�� � � (� �-3-A � ��� �2�� �� ��

[3] 1,2-1� .� � �� ( ��-3-A � �� �� 2� � �� � �

[4] 1,1-1� .� � �� ( ��-3-A � �� �� 2� � �� � �

  �$��� When�3-phenyl propene reacts with 

HBr in presence of peroxide the 

product obtained is : 

[1] 1-Bromo-3-phenyl propane�

[2] 2-Bromo-3-phenyl propane�

[3] 1,2-Dibromo-3-phenyl propane�

[4] 1,1-Dibromo -3-phenyl propane�



����� �������

��	�
��
���� � �

�$��� 18 g E�? � � � �� )( 6126 OHC � � �� �1 kg 0 ��
( � � � B� ��� �� 0��%�1.013 bar� 
 �� � �� � � *� 0 ��
�� �� ���� �� � �� �� ��� + � F 0� � � �� � ��� bK �
� � �( �� �0.52 K kg 1

mol
−  *' G �

 

[1] 0.052 K  

[2] 0.52 K�

[3] 373.15 K 

[4] 373.202 K�

  
�$��� 18 g of glucose )( 6126 OHC is 

dissolved in�1 kg of water, at what 

temperature will water boil at 1.013 

bar ? ( bK �for water = 0.52 K kg 
1

mol
− ) 

[1] 0.052 K 

[2] 0.52 K�

[3] 373.15 K 

[4] 373.202 K�

�$"�� �� �� ��� �� �� (�� � ��� � �'�-�� � 2� � 	� � � � ��� �� � �
#� ? (� �� �� *� � �� �� ��( �/� � B�- �� � *6�� *6�� *6�� *6� ���� � *' � + �

[1] 3O �

[2] �� �> 5 �6� � �6 �- �� �� .- @ � - �

[3] � �. �- @ � � & �> 5 ��. 1 �

[4] CFC's�

  
�$"�� Which of the following is not a common 

component of photochemical smog ? 

[1] 3O �

[2] Peroxyacetyl nitrate�

[3] Nitric oxide�

[4] CFC's�

�$#�� �� �� ��� �� �� �� � � 0� 6�� ���� �� � �� �*(� ���
�� /
  � ��� �� (� *' � +�
�

[1] 0.1 m E� ?� �� �� �

[2] 0.1 m NaCl�

[3] 0.1 m � 4 � � ��

[4] 0.1 m 2BaCl �

  
�$#�� Which of the following aqueous 

solution have the lowest freezing 

point ?�

[1] 0.1 m Glucose 

[2] 0.1 m NaCl�

[3] 0.1 m Sucrose 

[4] 0.1 m 2BaCl �



 ������� ������

��	�
��
���� � ���������

�$��� �� �� ��� �� �� � � �� � �� 6� � � �� & �� 0 �� �6�
&�B�-��2�� ���-2-&�����7��� (�7���'��
���� *'�+ �
�

[1] 2-(� � 7 ��� 2�� �6�� �

[2] H� ? --2-. � ��

[3] 2�� �6� �

[4] H� ? --1-. � ��

  �$��� Ozonolysis of which of the 

following alkenes give propan-2-one 

and Methanal ?�

[1] 2-Methyl propene 

[2] But-2-ene�

[3] Propene� �

[4] But-1-ene�

��$�� �� �� ��� �� �� � �' �-�� � $ ��(� (#� � �� � 
�� �- � ��
& �� � � 7 ��� A� � ��� ��� �� �� ��� � �� � 1� . �� 3 -� .1�
� � �( � �7 � �� �
- � �*' � +�
�

[1] � � 
��- �� ( � �

[2] � � �� -� (�

[3] � ' � � 6��

[4] �  4 �� ��� 0C�

  ��$�� Which of the following artificial 

sweetner is methylester of dipeptide 

formed from aspartic acid and 

phenylalanine ? 

[1] Aspartame  

[2] Alitame 

[3] Saccharine 

[4] Sucrolose�

����� Cd | 2CdCl . OH25 F �� �8 3 �G || AgCl(s)|Ag 

�� � � � �� EMF 25°C � � � 0.7 volt *' ! �
. �� � � �� �� (  5 � �D 0 �� � �� �� � � �� *' � ��
 

[1] 135.1 kJ  

[2] −135.1 kJ 

[3] 67.55 kJ 

[4] − 67.55 kJ�

  ����� The EMF of the cell Cd | 2CdCl . 

OH25 (saturated) || AgCl(s) | Ag is  

0.7 volt at 25°C. The free energy 

change for it, is : 

[1] 135.1 kJ 

[2] −135.1 kJ 

[3] 67.55 kJ 

[4] − 67.55 kJ�



����� ���!���

��	�
��
���� � �

����� 2�� � � 'I  �� & �B� -J� � NaOH, NaCl & �' � 

2BaCl  � 6 � � 6(� � �� (� � �� � � ��� ���K � 4 (	� ��
248.1 × 410− , 126.5 × 410−  & �' �  

280 × 4
10

− 12
molsm

−  *' %� �� �

2)(OHBa � � � ,°
m» � 12

molsm
−  (� � � *' �� �

�

[1] 401.6 × 410−  

[2] 523.2 × 4
10

− �

[3] 776.2 × 4
10

−  

[4] 654.6 × 4
10

− �

  ����� For the strong electrolytes NaOH, NaCl 

and 2BaCl  the molar conductances 

at infinite dilution are�248.1 × 410− , 

126.5 × 4
10

− and 280 × 4
10

−  
12

molsm
−  respectively, then °

m» �for�

2)(OHBa �in 12
molsm

−  is :�

[1] 401.6 × 410−   

[2] 523.2 × 4
10

− �

[3] 776.2 × 4
10

−  

[4] 654.6 × 4
10

− �

����� �6� � � � � � ���6 � ( � � � � � �� & ���� � � � & ��#� 5 �� �� �
LH� ? �� � �6 � ��/1 @ ��( M� *� � �� �*' �+�

[1] −
F   

[2] −
3NO �

[3] −2
4SO  

[4] −
Cl �

  ����� Excess of which ion in drinking 

water causes 'blue baby syndrome' ?�

[1] −
F  

[2] −
3NO �

[3] −2
4SO  

[4] −
Cl �

��!�� �� �� ��� �� �� (� �� �� � � �' �-�� �� � � �� ( ' �- �� *' � + �
�

[1] N � ?� � �  

[2] � �. 5� �� H� ? -6 � 

[3] � �. 5� �� *� 3- �- @ �. � ��

[4]� � �. 5 ��� �� /- �1 �. � ��

  ��!�� Which among the following is 

aromatic ? 

[1] Furane 

[2] Cyclobutene 

[3] Cycloheptatriene 

[4] Cyclopentadiene�



 ������� ������

��	�
��
���� � ���������

����� �� �� ��� �� �� (� � � �� � � �' �-�6 � 2�� & �� �
 � �
& �' ) �#�� *' � +�

[1] � �(� � -1 6�� �

[2] 1 �. (� - � ��

[3] - � A � �� 16 ��

[4] . 2�� � �. �0C 1�

  ����� Which of the following is an 

antidepressant drug ? 

[1] Cimetidine 

[2] Dimetapp 

[3] Terfenadine 

[4] Iproniazid�

����� pH� � � � � � OC �� � � �� � A 6 �� > �%� UV� 
�� 5 - @ �� ( � � �
�� �� ��� �� �� � � �� 2� � �� � �� � 	�N -� 2 
 �	�� � �
� � � �� *' � + 

(a) � ' 7 �� � 4�� � (� � �	� N- �

(b) � *3 ��� 4 �� �( �� �	�N - �

(c) � 6�� � �	�N - �

(d) � ��� �	� N- 

[1] b, c  

[2] a, c�

[3] a, d 

[4] b, d�

  

����� On increasing the pH, phenol shows 

which of the following shift in UV 

spectra ? 

(a) Bathochromic shift�

(b) Hypsochromic shift�

(c) Blue shift�

(d) Red shift 

[1] b, c  

[2] a, c�

[3] a, d 

[4] b, d�
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��"�� �� �� ��� �� �� ( �� � �� � �� �� � ��4 ( "� � � � �� � *6�� *6�� *6�� *6� �
( ��� � 0�� �� *' � + �

[1] Zr [2] Cu�

[3] Zn [4] Ni�

  ��"�� Which of the following is not 

regarded as transition element ?�

[1] Zr [2] Cu�

[3] Zn [4] Ni�

��#�� �� �� ��� �� �� (� � � �� � � �'�-�6 � 
� �- J� �� & �� �� 4 �� �
*' �+ �

[1] RX + NaI → RI + NaX �

[2]  →+= 4
222

CCl
BrCHCH  

Br

CH

Br

CH
||

22 − �

[3] R − X + AgF → RF + AgX�

[4] ROH + 2SOCl  → RCl +  

            HClSO +2 �

  
��#�� Which of the following is Swart's 

reaction ? 

[1] RX + NaI → RI + NaX �

[2]  →+= 4
222

CCl
BrCHCH  

Br

CH

Br

CH
||

22 − �

[3] R − X + AgF → RF + AgX�

[4] ROH +  2SOCl  → RCl +  

       HClSO +2 �

����� �4 
-� � �� � � � �� 2� �� � 0� � & P�6 �� 
 ? �� � �K � ��

a ≠ b ≠ c & � ' �� & P�6 �� �� �" ��α = γ = 90° 

& �' � � °=/ 90³  *' � � �

[1] � , �( �� � �P�� �

[2] � �� �� P��

[3] � �� � � " �6� �

[4] � � � ��P� �

  
����� The type of crystal system when 

axial distances a ≠ b ≠ c and axial 

angles�α = γ = 90° and� °=/ 90³  is :�

[1] Tetragonal  

[2] Triclinic�

[3] Trigonal  

[4] Monoclinic�



 ���"��� ������

��	�
��
���� � ���������

��$�� �� �� ��� �� �� & �� � �4 � �� � ��� <��
 �*' � � �

OHii

PredCli
COOHCHCHCH

2)(

/2)(
223  → �

[1] 2-5 ��� � �� H �? - � ��� .� �& ���

[2] 3-5 ��� � �� H �? - � ��� .� �& ���

[3] 4-5 ��� � �� H �? - � ��� .� �& ���

[4] H� ? - � ��> . �� 5 ��� �� . 1�

  ��$�� The product of following reaction is :�

OHii

PredCli
COOHCHCHCH

2)(

/2)(
223  → �

[1] 2-chlorobutanoic acid�

[2] 3-chlorobutanoic acid�

[3] 4-chlorobutanoic acid�

[4] Butanoyl chloride�

����� Nb�� �� �� Q �. � � 5- @ �> � �� ��� /� ��� *' �� �
�

[1] 5
4d , 2

5s  

[2] 5
4d , 0

5s �

[3] 44d , 15s  

[4] 3
4d , 2

5s �

  ����� The outer electronic configuration of 

Nb is :�

[1] 5
4d , 2

5s   

[2] 5
4d , 0

5s �

[3] 44d , 15s  

[4] 3
4d , 2

5s �

����� � � � �
� 7 �� � 0� �� �� � ��� 
 	�6� � ( �� ( 6� R �� �� *' �
� 7 ��� � �� � �� 
6 �3 �� 2
� 	�� �� � � � �� *' � ��
�

[1] α-� ��� � A �> 
A � � ���

[2] β-� �� ��A �> 
A � � � ��

[3] � ��� A � > 
A �� � ��

[4] 	� � �� A � > 
A �� � ��

  ����� A substance that is translucent waxy 

solid and shows chemiluminescence 

is :�

[1] α-Black Phosphorus�

[2] β-Black Phosphorus�

[3] Red Phosphorus� �

[4] White Phosphorus� �



����� ���#���

��	�
��
���� � �

����� �� �� ��� �� �� �
� 7 ��� S � (� � �� ��298 K �� �� � �� 6�

( ��� �� �� �� � ��7 � ' � �6 �	� ?/ �� � *6�� *6�� *6�� *6� � � *' � + �

�

[1] )(2 lBr   

[2] C  F �� � A � . -G�

[3] )(2 gBr  

[4] )(2 gCl �

  ����� The standard molar enthalpy of 

formation at 298 K is not zero for 

which of the following substances ?�

[1] )(2 lBr   

[2] C  FgraphiteG �

[3] )(2 gBr   

[4] )(2 gCl �

��!�� �� �� ��� �� �� ( �� � ��� � �'�-��� �*�� � " �� � *6�� *6�� *6�� *6� � �

*' �+ �

[1] & � � �� �� � D 0��� �

[2] B ��< ��

[3] � �� �

[4] 
 �� �

  ��!�� Which of the following is not an 

intensive property ? 

[1] Internal energy 

[2] Density 

[3] Temperature 

[4] Pressure�

����� �� �� ��� �� �� �� �� & "� � ��� �, #��  � � & �B� ? "�� �

� = ��( � *' � + �

[1] 3NH   

[2] 4CCl �

[3] 3NF   

[4] 3BF �

  ����� Which of the following molecule has 

highest dipole moment ?�

[1] 3NH   

[2] 4CCl �

[3] 3NF   

[4] 3BF �



 ������� ������

��	�
��
���� � ���������

����� �� �� ��� �� �� �� �� & �� � �4� �� (� �% � 0�� 
 ���
� OC �� �� 0� ��� *' %� � �� &�� � �4 � �� �� �� 6� �
F � <4 ( G� �
 	� �� (� � � *�� � 6� *' � +�

[1] )()( 22 gIgH +  � 2HI(g)�

[2] )(3)( 22 gHgN +  � )(2 3 gNH �

[3] )()( 2 gCOsC +  � 2CO(g)�

[4] CO(g) + )(3 2 gH  � )(4 gCH  + 

           )(2 gOH �

  
����� In which of the following reactions, 

the reaction goes in the reverse 

direction, when pressure is increased :�

[1] )()( 22 gIgH +  � 2HI(g)�

[2] )(3)( 22 gHgN +  � )(2 3 gNH �

[3] )()( 2 gCOsC +  � 2CO(g)�

[4] CO(g) + )(3 2 gH  � )(4 gCH  + 

)(2 gOH �

��"�� �� �� ��� �� �� ( �� � �� � �� � � 6� . �� 5 - @ �> �� � �H#��

� � 7 �' � �6� & �#�� �( �T" � �<( �� *' � + �

[1] F [2] Cl�

[3] P [4] S�

  
��"�� Which of the following have the most 

negative electron gain enthalpy ?�

[1] F [2] Cl�

[3] P [4] S�

��#�� 100 g ;U�( �� � &� ' � �10 1ms−  �� ��� � ���� �

� � � � *6 �� � � �� � 
 � � 6� �� � �
 'B �� � *' �� �

�

[1] 6.6 × 34
10

− m�

[2] 6.6 × 35
10

− m�

[3] 6.6 × 36
10

− m�

[4] 6.6 × 37
10

− m�

  
��#�� The wavelength of a ball of mass  

100 g moving with a velocity of� � �

10 1
ms

−  is : 

[1] 6.6 × 34
10

− m�

[2] 6.6 × 35
10

− m�

[3] 6.6 × 36
10

− m�

[4] 6.6 × 37
10

− m�



����� ��!$���

��	�
��
���� � �

����� �
7 � � � 
 �� � � �� � �� �� �� � 
 � � �� 2� �� � �� 24 ( �

� � � ∆G *' �� �

[1] ∆G = 0  

[2] ∆G  < 0�

[3] ∆G  > 0 

[4] ∆G = 1�

  ����� ∆G for a spontaneous process at 

constant pressure and temperature is :�

[1] ∆G = 0 

[2] ∆G  < 0�

[3] ∆G  > 0 

[4] ∆G = 1�

��$�� (  �� �5 � �" - (� �� � �� �n = 3 �� � �� �� � #�� ��  ��

� P� � ��� � � 6� �� � � �� �� � �6 �*���6� + �

�

[1] 3  

[2] 6�

[3] 9  

[4] 18�

  ��$�� What is the total number of orbitals 

associated with the principal 

quantum number�n = 3 ?�

[1] 3  

[2] 6�

[3] 9  

[4] 18�

����� 16 g ( � 7 �' � � �� � 
 *� � � � � 2�3 �� 0�� � 6� ( ����

*' �� �

[1] 9 g  

[2] 18 g�

[3] 36 g  

[4] 72 g�

  ����� The amount of water produced by 

the combustion of 16 g of methane is :�

[1] 9 g  

[2] 18 g�

[3] 36 g  

[4] 72 g�



 ��!���� ������

��	�
��
���� � ���������

����� �� �� ��� �� �� (� � � �� � � �' �-��� & �� �� � � ��

� � �� � � �� - �& � 
� � *' � +�

[1] ( ' E�� - �. -� �

[2] � �1� � � .- �

[3] &�������.��.-��

[4] *� (� - �. - �

  ����� Which of the following is carbonate 

ore of Iron ? 

[1] Magnetite 

[2] Siderite 

[3] Iron Pyrites 

[4] Haematite�

����� �� �� ��� �� �� �� ' ��� � � ��IUPAC ��( � *' � ��
�

OH

O

CCHCHCH

O

CCH −−−−−−
||||

2223
�

[1] 6-� �� �� � 5 �6 �*� 5 �� �-2-& �� ��

[2] 5-& �> 5 �� � *� 5 �� � �� . � � & ���

[3] H� ? �- �� (� �7 �� �� 6 -�� ��

[4] 1,5-1� .� 6- �� *� 5� � ��> ��

  
����� The� IUPAC name of following 

compound is :�
OH

O

CCHCHCH

O

CCH −−−−−−
||||

2223
�

[1] 6-carboxy hexan-2-one�

[2] 5-Oxohexanoic acid�

[3] Butyl methyl ketone�

[4] 1,5-Diketohexanol�

��!�� � � � �� � ��� . -� �� � �#� ��  �� ��& �
� � *' �+ �

[1] Al 

[2] Zn�

[3] Fe 

[4] Cu�

  
��!�� Kaolinite is an ore of which metal ?�

[1] Al  

[2] Zn�

[3] Fe  

[4] Cu�



����� ��!����

��	�
��
���� � �

����� �� �� ��� �� �� (� � �2s � P� � ��� � � 6 � D 0� � � � �� � *6� *6� *6� *6�
4 ( �*' � ��

[1] H > Li > Na > K�

[2] K > Na > Li > H�

[3] H > Na > K > Li�

[4] Na > K > Li > H�

  ����� The correct order of energy of 2s 

orbitals of following is :�

[1] H > Li > Na > K�

[2] K > Na > Li > H�

[3] H > Na > K > Li�

[4] Na > K > Li > H�

����� �� �� ��� �� �� �� � � � � �  �� (��� 23
dsp �� � � � "� �

��� �� 0�� �� *' �+ �

[1] −3
6 ][CoF �

[2] ( ) +3
63 ][ NHCo �

[3] ( ) −3
342 ][ OCCo �

[4] −3
6 ])([ CNMn �

  
����� Which of the following complex 

posses 23
dsp �hybridization ?�

[1] −3
6 ][CoF �

[2] ( ) +3
63 ][ NHCo �

[3] ( ) −3
342 ][ OCCo �

[4] −3
6 ])([ CNMn �

��"�� �� �� ��� �� �� & �( ��  �� ��� & � � �� 4 �� � (� � �

→++ − )(3)(3)( 24 lOHaqOHsP

−+ 223 3)( POHgPH , P� � 6� & �> 5 �6 � � "��

& � 
7 ��� 4P , 3PH  & �' � � −
22POH �(� � �

4 ( 	��� *' �� ��

[1] 4, 3, 2  

[2] 4, −3, −2�

[3] 0, +3, +1 

[4] 0, −3, +1�

  
��"�� In the following disproportionation 

reaction ++ − )(3)(4 aqOHsP �

)(3 2 lOH →
−+ 223 3)( POHgPH , the 

oxidation states of P in� 4P , 3PH  

and� −
22POH �are respectively :� �

[1] 4, 3, 2  

[2] 4, −3, −2�

[3] 0, +3, +1 

[4] 0, −3, +1�



 ��!���� ������

��	�
��
���� � ���������

��#�� Z = 117 �� �� � �� � �� �� 
7 ��� � & �� �� � ��� " �6�

� � � �� �� �� �� �� � (� � � *�� �� � ��� *� � + �

[1] P� �� 6� �# ���  � �

[2] *' �� � 0�� ��� �� � ��

[3] P� �� 6� �( 8 
 �� #���  � K�

[4] � <$ ) -� �' � �

  ��#�� The element Z = 117 would be placed 

in which family of periodic table ?�

[1] Alkali metals�

[2] Halogen family �

[3] Alkaline earth metals�

[4] Noble gases�

����� 2KO � (� � � 2< �� �� & �> 5 �6 0�� �� (�" �  � � 6�

& �> 5 �6 � � " �� �� � ��� *' �� �

[1] − 2  

[2] −1�

[3] −1/2 

[4] 0�

  ����� The oxidation state of each oxygen 

atom in 2KO �is :�

[1] − 2  

[2] −1�

[3] −1/2 

[4] 0�

�!$�� �- @ �� F �7 �� �-1,2-1� .� ( 6�G � � � � �� � -� (III) 

�� A �- � *' � ��

[1] 43])([ SOenCo �

[2] ( )
2433])([ SOenCo �

[3] ( ) 232222 ][ NHCHCHNHCo −−−

            ( )
24SO  

[4] ( )
3423])([ SOenCo �

  
�!$�� Tris (ethane-1,2-diammine) cobalt 

(III) sulphate is :�

[1] 43])([ SOenCo �

[2] ( )
2433])([ SOenCo �

[3] ( ) 232222 ][ NHCHCHNHCo −−−

            ( )
24SO  

[4] ( )
3423])([ SOenCo �



����� ��!!���

��	�
��
���� � �

�!��� � �
 � & �� � �4 � �� )()( 22 gIgH + � 

2HI(g) � �� �� ��� �
7 � �� � 
7 � �� � � � cK � *' %�
� �� � �6� �� �� �� � & �� �� 4 � �� +)(2 2 gH �

)(2 2 gI � 4HI(g) � � ��� ��� 
7 �� �
7 � �� � ��
5 �� �*�� ��� + �

[1] cK   

[2] cK �

[3] 2
cK   

[4] cK2 �

  �!��� If the equilibrium constant for the 

reaction )()( 22 gIgH + � 2HI(g) is 

cK ,�then at same temperature, what 

will be the equilibrium constant for the 

reaction +)(2 2 gH )(2 2 gI � 4HI(g)  ?�

[1] cK   

[2] cK �

[3] 2
cK   

[4] cK2 �

�!��� & �
 	�� � �' �� � � �� �� �� � �6 1J� �� �� �� � �Z� *' � ��
�

[1] 0  

[2] 1�

[3] 1 �� � & �# ���

[4] 0 �� � � (�

  �!��� For ideal gas compressibility factor 

Z is :�

[1] 0  

[2] 1�

[3] greater than 1  

[4] less than 0 �

�!��� �� �� ��� �� �� (� �� � � � ��' �-�6 � 
�6	�6 0C �
& �( ��  �� �� �& � � ��4 �� � � *6 �� *6 �� *6 �� *6 � �� � 
� �� �6 �*' � +�

[1] −
ClO  

[2] −
2ClO �

[3] −
3ClO  

[4] −
4ClO �

  �!��� Which of the following species do 

not show disproportionation reaction ?�

[1] −
ClO   

[2] −
2ClO �

[3] −
3ClO  

[4] −
4ClO �



 ��!���� ������

��	�
��
���� � ���������

�!!�� � � � �� 4 ( � � �� V 9 �� )( � ��� � 
7 ��� �� � � � (� � � *� � �� � �� �

�� �� � *6� *6� *6� *6 � �
7 � �� �*' � ��

[1] ∆T = 0  

[2] ∆p = 0�

[3] q = 0 

[4] w = 0�

  �!!�� For the process to occur under adiabatic 

conditions, the correct condition is :�

[1] ∆T = 0 

[2] ∆p = 0�

[3] q = 0 

[4] w = 0�

�!��� �� �� ��� �� �� ( �� � �� � � �' �-�6� 27 � (� � �� �- � � 6�

& �� � �4 � ��� � �� 
� *�" � � � *6 �� *6 �� *6 �� *6 � ���� � *' �+�

[1] )()()( 62242 gHCgHgHC →+ �

[2] RnHeRa
222

68

4
2

226

88
+→ �

[3] )(
2

1
)()( 24252 gOgONgON +→ �

[4] )()(2 2
CatalystPt

K1130
3 gNgNH  →  

)(3 2 gH+ �

  
�!��� Which of the following is not� an 

example of first order reaction ?�

[1] )()()( 62242 gHCgHgHC →+ �

[2] RnHeRa
222

68

4
2

226

88
+→ �

[3] )(
2

1
)()( 24252 gOgONgON +→ �

[4] )()(2 2
CatalystPt

K1130
3 gNgNH  →  

)(3 2 gH+ �

�!��� �� �� ��� �� �� �� �� *�. 1@ � .1 � � 6 � P� �� � ���

� = ��( � *' � + �

[1] 3PH   

[2] 3AsH �

[3] 3NH   

[4] 3SbH �

  
�!��� Basicity of which of the following 

hydride is maximum ?�

[1] 3PH   

[2] 3AsH �

[3] 3NH   

[4] 3SbH �



����� ��!����

��	�
��
���� � �

�!"�� d-�P�� ��������������"�6����� 1��6������� *'���
�

[1] 0 [2] 1�

[3] 2 [4] 3�

  �!"�� The number of angular nodes for  

d-orbitals are :�

[1] 0 [2] 1�

[3] 2 [4] 3�

�!#�� �� �� ��� �� �� (� � � ��� � � '�-� �� �� �  �� W�� �(� 6��
�( �� �� � �� 2
 � 	� � �� � *6�� *6�� *6�� *6� � ��� �� �*' � +�

[1] ( ) ][ 223 ClNHPt �

[2] ( ) ( ) ][
3233 NONHCo �

[3] ])([ 22 enCoCl �

[4] ( ) ][ 4CONi �

  �!#�� Which of the following complex does 

not show geometric isomerism ?�

[1] ( ) ][ 223 ClNHPt �

[2] ( ) ( ) ][
3233 NONHCo �

[3] ])([ 22 enCoCl �

[4] ( ) ][ 4CONi �

�!��� �� �� ��� �� �� ( � � � �� �� �� � � �� 6� � & �B� ? " �� �
� = ��( � *' � + �

[1] −3
6 ])([ CNMn �

[2] −3
6 ])([ CNFe �

[3] −3
6 ][FeF �

[4] −3
6 ][CoF �

  �!��� Which of the following has the 

highest magnetic moment ?�

[1] −3
6 ])([ CNMn �

[2] −3
6 ])([ CNFe �

[3] −3
6 ][FeF �

[4] −3
6 ][CoF �

��$�� �����������(�� ��� ������� dsp
3 �����"��*'���

�

[1] +
4NH   

[2] 4SF �

[3] 4XeF  

[4] 4XeOF �

  ��$�� Which of the following has dsp
3 �

hybridization ?�

[1] +
4NH  

[2] 4SF �

[3] 4XeF  

[4] 4XeOF �
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